'oH AND pOH - Nome

The pH of a solution indicates how acidic or basic that solution is.
pHrange of 0-7 acidic

7 neutral
7-14 basic
Since [H*] [OH] = 10 at 25° C, if [H*] is known, the [OH-] can be calculated and
vice versa.
pH = —log [H*] Soif[H] = 10¢M,pH = 6,

pOH = -log [OH] Soif [OH] = 10t M, pOH = 8.
Together, pH + pOH = 14.

Complete the following chart.

[H'] pH [OH-] pOH  Acidic or Basic
1. 10° M 5 107 M Q Acidic
21 lOTm| 7 (R newdrad
107w 1= - 10M 4 basic
) 102 M Z | wotm 12 ocdic
s | JOPM] 3P 1Ml i
o | 1| v IO 2 | basic

T o] @ | o | 5 b
8. 101 M [ |07 M 3 hasic |

| - -t
o | 1ot | LOTM e | addie
~ly N8 -
o | 1O°M 6 104 aéidi
éhemisTry IF8766 84 ©lﬁs?rucfiona[ Fair, Inc.




